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He said to him; and the same is by a ditch  — X212 327 ;79 K

OVERVIEW

"X asked 701 17 what is the ruling concerning a X1 in the 71"77 which is
nine 219 deep; is it the same as an 1°9Y 2°5n3n 0°27 YW 7MY which is
considered a 1", or does this rule apply only to an 7Y but a v ¥»3 will
not be considered a 71"71.' To which noY 27 answered that a X212 is the same
as an 7Y and it 1s considered a 7"77. Our Md0I1n discusses what 701 29
meant when he said X»12 121. Does it mean that just as an 7Ty is a 72"77 if it
1s M23 exactly 'v (no more and no less), similarly a X211 is a 7"737, only if it is
" Py, or is it a 7" even if it is less than 215Y v deep.

— ©390 MY MHN 7V M) 1DON 912195 13951 NN 1997 291219 5993
We can say that s'101° 27 response '82132 321" meant to say that even if it is

nine 21150 deep it is considered a 2''717 -
— A YNNYAY NN ANT AYYUNN NHIND 19V Y3 PHTN *1 DY Na PanNINy

Since people are 72 onon albeit with difficulty, and certainly a X
which is less than nine 2190 deep is a 7"77, since it is more comfortable
to utilize it than a 'v xn.

mooIn proves his contention that a 'v»n NN XA is a 1"77:
— *NOYON N2 191 IND N “s119919 *x9r9aN 9INPT 71902 ¥1IYN 19

And so too it seems shortly where Xin» 72 XX 17 states, regarding the
Xn»92 which is cited; ‘does not '82133 32Y' refer to the X209 of the xn>m2
which rules that 1050 () 191 nnd -

119172 1133 PYVYVN 7 MND Y57 YHIYN

! »ax asked this question because the utility of a X2 is not as convenient as the utility of an o Ty (as we
see that 27 maintains that regarding a X113 since it is a P71 °"y wwn, it is not a 7"717).

? See x"ow that Mmoo is discussing the view of 701 27; however »aX certainly maintains that even "o mno
itis a 7" since a &1 is considered 1"77 > which is "7 7" according to " 2X.

? The ®n™2 reads: ,7910% 2"711 K1 2770 7907 KD 190RLA PR T 1AM 7AW AMa3 ,1"2 DN Nop AN
X132 191 ,7°20%0n 191 nIns.

* n"axn cited the X012 as a refutation of X271 and in support of »ax that a Xm0 is considered a 1";1, for the
RN»71 states ¥M132 191 that a Xm1x is similar to a 7912, and just as by a 7917 one may be carry from the 7191 to
the 1"711 similarly by a X213 (assuming that 82132 121 refers to the &5°0 of the Xn>12 that P%v2un 831 NINd).

> Tt should be pointed out that even if X2 191 refers to the w0 n°7 of the X9°0 (supporting »ax),
nevertheless there is a difference, for by a 79I the 2150 0> (by X3% No) is because it is a Mwd DPn,
however by a X» the 2171 107 is because it is considered a 7"717 since the 0°27 are 12 PwANWA..
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Indicating that any x»3 which is *'s» ni® you may be 17310% 1"777% Svhun
7"77% 701 just as you are permitted to be Puovn by a box which is “n nmino
(or "7 Mnd).

SUMMARY
X1Nn 72 XTX 27 (and perhaps also 701 27) seemingly maintains that any X213
(7"772) o°ndv " Mo is considered part of the 7"77.

THINKING IT OVER
What would be the reasoning whether we assume XP17 'v by a X3 or
whether it means even v and '"vn nE w37’

® This seems to indicate that the X2 207 applies as long as it is "» mnad and not necessarily only if it is "o
o mdv or less; see W"wA (see XM 17 "W that we are discussing a v ®», and in 7ywn 7"7 that by an Ty it
needs to be exactly "1 to be considered a 1"77).

7 See manm K.
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